Proposal of called "BIDDER")	Consocidated Pipe + Supply Co Inc.), organized and existing under the laws of the State of	(hereinafter
doing business a	(Insert "a corporation", "a partnership", or "an individu	al" as applicable.)

To OHIO COUNTY WATER DISTRICT, 130 EAST WASHINGTON STREET, HARTFORD, KENTUCKY 42347 (hereinafter called OWNER).

The BIDDER hereby proposes to perform all WORK for **SERIES** III **WATER SYSTEM IMPROVEMENTS PIPING AND APPURTENANCES (MATERIALS ONLY)** in strict accordance with the CONTRACT DOCUMENTS, within the time set forth herein, and at the prices stated below.

By submission of this BID, each BIDDER certifies, and in the case of a joint BID each party thereto certifies as to its own organization, that this BID has been arrived at independently, without consultation, communication, or agreement as to any matter relating to this BID with any other BIDDER or with any competitor.

BIDDER hereby agrees to deliver materials under this contract under the terms set forth in the CONTRACT DOCUMENTS. Failure to comply shall be reason for cancellation of the AGREEMENT.

BIDDER acknowledges receipt of the following ADDENDUM:

_/

BIDDER, having examined the plans and specifications and being acquainted with and fully understanding (a) the extent and character of the work, (b) the location, arrangement and specified requirements, (c) existing and probable difficulties and hazards, (d) local conditions relative to labor, transportation, hauling and delivery, and (e) all other conditions affecting or which may be affected by the PROJECT hereby agrees to furnish all materials described in the CONTRACT DOCUMENTS for the following unit prices and/or lump sums:

B-1 ADDENDUM NO. 2

MATERIALS ONLY

BID SCHEDULE

(MATERIALS ONLY)

NOTE: BIDS SHALL INCLUDE SALES TAX AND ALL APPLICABLE TAXES AND FEES.

SEE SPECIAL CONDITIONS FOR EXPLANATION OF BID ITEMS.

ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
	WATER MAIN, DUCTILE				
.1	10" CLASS 350	160	LF	7.90	1,264.00
.2	8" CLASS 350	7,000	LF	6-10	42,70000
.3	6" CLASS 350	560	LF	4.59	2 570,40
.4	4" CLASS 350	5,000	LF	4.90	24,500,00
	WATER MAIN, DR 14 PVC				
.1	10" C900 DR 14 PVC	160	LF	10.99 8.1	+, 95840 1297.60
2	8" C900 DR 14 PVC	7,000	LF		35, 910,00
.3	6" C900 DR 14 PVC	560	LF	5.13 2.97	1,663,20
4	4" C900 DR 14 PVC	5,000	LF	1.86	9,300,00
	WATER MAIN, SDR 21 PVC				
1	10" SDR 21 PVC	1,440	LF	4.94	7,113.60
2	8" SDR 21 PVC	83,200	LF	3.08	256,256,00
3	6" SDR 21 PVC	45,500	LF	1.83	83. 265.00
4	4" SDR 21 PVC	41,580	LF	.87	36, 174.60
5	3" SDR 21 PVC	1,760	LF	,58	1,020.80
6	2" SDR 21 PVC	4,300	LF	.33	1,419.00
	HDPE PIPE				111111111111111111111111111111111111111
1	8" HDPE, DR11	325	LF	6.05	1,96625
2	6" HDPE, DR11	100	LF	4.35	1435.00
3	4" HDPE, DR11	200	LF	2.10	420,00
	TRACER WIRE	195,000	LF	.04	7, 800.00
	GATE VALVES	1.5.5,545		1-1	1,000,00
1	10"	1	EA.	66200	66200
2	8"	35	EA.	42600	14, 910,00
3	6"	18	EA.	274.00	493200
	4"	16	EA.	212.00	3.392.00
	3"	11	EA.	185.00	2, 035.00
	BUTTERFLY VALVES			10300	A, V.33.00
1	10"	1	EA.	570.00	570.06
2	8*	1	EA.	340.00	340.00
3	6"	1	EA.	300.00	300.06
4	4"	1	EA.	280.00	280.00
5	3"	1	EA.	26000	
5	BALL VALVES	1	LA.	2 6000	260,00
1	2"	2	EA.	7300	146,00
2	1-1/2"	1	EA.		The state of the s
3	1"		EA.	50.00	50.00
3	CAST IRON VALVE BOXES	100	EA.	2000	20.00
).	VALVE BOX ADAPTORS	90		1800	1,800.00
	VALVE STEM EXTENSIONS	90	EA.	24.00	2,160.00
		1	E 4	CCAL	201.11
.1	Less Than 2' Extension	4	EA.	55.00	220.00
.2	2' - 4' Extension	10	EA.	6500	650,00
.3	4' - 6' Extension	2	EA.	75.00	150.00
1.4	6' - 8' Extension	2	EA.	82.00	170.00
1.5	8' - 10' Extension	2	EA.	95.00	190.00
2.	FITTINGS, DUCTILE IRON				
1.1	10 X 10 CROSS	1	EA.	37600	376.00
.2	8 X 8 CROSS	1	EA.	226.00	226.00

B-2

ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
2.3	6 X 6 CROSS	1	EA.	161.00	161.00
2.4	4 X 4 CROSS	1	EA.	123.00	123.00
2.5	10 X 10 TEE	1	EA.	276.00	27400
2.6	10 X 8 TEE	1	EA.	238.00	238.00
2.7	10 X 6 TEE	1	EA.	226.00	226.00
2.8	10 X 4 TEE	1	EA.	212.50	217.50
2.9	8 X 8 TEE	4	EA.	165.00	660.00
2.10	8 X 6 TEE	4	EA.	151.00	604.00
2.11	8 X 4 TEE	16	EA.	141.50	2 264.00
2.12	8 X 3 TEE	3	EA.	140.50	42650
2.13	6 X 6 TEE	1 1	EA.	11600	116.00
2.14	6 X 4 TEE	1 1	EA.	10250	107.50
2.15	6 X 3 TEE	1	EA.	103.50	103.50
2.16	6 X 2 TEE	7	EA.	128.00	896.00
2.17	4 X 4 TEE	5	EA.	88.50	442.50
2.18	4 X 3 TEE	1	EA.	86.50	86.50
2.19	4 X 2 TEE	7	EA.	109.00	-
2.20	10 X 8 REDUCER	1	EA.	138.00	763.00
2.21	10 X 6 REDUCER	2	EA.		/38.00
2.22	10 X 4 REDUCER	3	EA.	126.00	252.00
	8 X 6 REDUCER	2	EA.	119.50	35850
2.23	Contract of the Contract of th		EA.	91.00	182.00
2.24	8 X 4 REDUCER	3		83.50	250.50
2.25	8 X 3 REDUCER	1	EA.	74.50	74.50
2.26	6 X 4 REDUCER	3	EA.	66.50	199.50
2.27	6 X 3 REDUCER	1	EA.	62.50	6250
2.28	6 X 2 REDUCER	1	EA.	87.00	87.00
2.29	4 X 3 REDUCER	3	EA.	54.00	16200
2.30	4 X 2 REDUCER	4	EA.	73.50	294.00
2.31	10" CAP	1	EA.	88.00	88.00
2.32	8" CAP	1	EA.	\$3.00 38.00 28.50	53.00
2.33	6" CAP	2	EA.	3800	74.00
2.34	4" CAP	4	EA.	28.50	114.00
2.35	3" CAP	1	EA.	24.50	24.50
2.36	2" CAP	1	EA.	3200	32.00
2.37	10 " BEND	2	EA.	179.00	358.00
2.38	8" BEND	5	EA.	109.00	545.00
2.39	6" BEND	1	EA.	76.00	76.00
2.40	4" BEND	1	EA.	58.00	57.00
2.41	3" BEND	1	EA.	5000	50.00
2.42	10" SOLID SLEEVE, SHORT	1	EA.	162.00	162.00
2.43	8" SOLID SLEEVE, SHORT	1	EA.	97.00	97.00
2.44	6" SOLID SLEEVE, SHORT	1	EA.	71.00	71.00
2.45	4" SOLID SLEEVE, SHORT	1	EA.	60.00	60.00
2.46	3" SOLID SLEEVE, SHORT	1	EA.	40.00	40.00
2.47	10" SOLID SLEEVE, LONG	1	EA.		171.00
2.48	8" SOLID SLEEVE, LONG	1	EA.	171.00	
2.49	6" SOLID SLEEVE, LONG		EA.	106.00	106.00
2.50	4" SOLID SLEEVE, LONG	1	EA.	79.00	79.00
The second second		1		6000	60.00
2.51	3" SOLID SLEEVE, LONG	1	EA.	53.00	53.00
2.52	10" CONNECTING PIECE	1	EA.	180,00	180.00
2.53	8" CONNECTING PIECE	1	EA.	114.00	114.00
2.54	6" CONNECTING PIECE	1	EA.	84,00	84.00
2.55	4" CONNECTING PIECE	1	EA.	69.00	69.00
2.56	3" CONNECTING PIECE	1	EA.	62.00	6200

ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
13.	FITTINGS, PVC				
13.1	4 ⁿ	25	EA.	10.00	250.00
13.2	3*	10	EA.	10.00	100.00
13.3	2" & SMALLER	750	EA.	,80	600.00
14.	TAPPING SLEEVE W/ VALVES				
14.1	10" X 10"	1	EA.	1.440.00	1,440.00
14.2	10" X 8"	1	EA.	990.00	99000
14.3	10" X 6"	1	EA.	720.00	720.00
14.4	10" X 4"	1	EA.	590,00	590.00
14.5	8" X 8"	1	EA.	980.00	98000
14.6	8" X 6"	1	EA.	695.00	695.00
14.7	8" X 4"	1	EA.	560.00	560.00
14.8	6" X 6"	2	EA.	660.00	1.32000
14.9	6" X 4"	1	EA.	540.00	
14.10	4" X 4"	1	EA.		540.00
15.	SERVICE SADDLES	- '-	EA.	530.00	530.00
15.1	10" X 2"	1	EA.	38.50	3000
15.1	8" X 2"	1	EA.		38.50
15.3	6" X 2"		-	29.20	29.20
15.4	4" X 2"	1	EA.	23.30	23.30
15.5		1	EA.	21.00	2/20
	10" X 1" 8" X 1"	1	EA.	30,30	30.30
15.6		1	EA.	23.40	23.40
15.7	6" X 1"	1	EA.	18.20	1820
15.8	4" X 1"	1	EA.	1620	16,70
16.	REPAIR CLAMPS				
16.1	10"	1	EA.	44.00	44.00
16.2	8"	1	EA.	36-00	36.00
16.3	6 ^r	1	EA.	3000	30.00
16.4	4"	1	EA.	2600	26.00
16.5	3"	1	EA.	24.00	24.00
16.6	2"	1	EA.	21.00	21.00
17.	AIR VALVES				
17.1	2" W/ 7/32" ORFICE	6	EA.	260.00	1,560.00
18.	CASING PIPE				
18.1	16" CASING	50	LF	11.25	56250
18.2	14" CASING	1,190	LF	9.60	11,424.00
18.3	12" CASING	360	LF	8 90	3 204.00
18.4	10" CASING	200	LF	8.90 7.55	1. 5/0.00
18.5	8" CASING	300	LF	490	1.470.00
19.	CASING END SEALS			7.70	1, 470.00
9.1	16" CASING	2	EA.	41.00	82.00
9.2	14" CASING	60	EA.	3650	
9.3	12" CASING	18	EA.		2,190.00
19.4	10" CASING	10	EA.	33.50	603.00
9.5	8" CASING	6	EA.	3/.00	3/0.00
20.	PIPE SPACERS	0	EA.	30.00	18000
20.1			F.*	22.00	1/0/0
	10" CARRIER	7	EA.	22.50	157.50
0.2	8" CARRIER	190	EA.	20.50	3,895.00
0.3	6" CARRIER	67	EA.	19,50	1,306.50
0.4	4" CARRIER	48	EA.	17.50	840.00
21.	SERVICE LINES				
21.1	3/4" PLASTIC	5,000	LF	.13	650.00
21.2	1" PLASTIC	150	LF	.19	28.50

ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
22.	SERVICE FITTINGS				
22.1	10" X 3/4" SERVICE SADDLE	1	EA.	30.30	30.30
22.2	8" X 3/4" SERVICE SADDLE	81	EA.	23.40	1.895.40
22.3	6" X 3/4" SERVICE SADDLE	81	EA.	1820	1. 474.20
22.4	4" X 3/4" SERVICE SADDLE	81	EA.	16.70	1.352.70
22.5	3" X 3/4" SERVICE SADDLE	5	EA.	14.70	73.50
22.6	2" X 3/4" SERVICE SADDLE	1	EA.	12.40	12.40
22.7	3/4" CORPORATION STOPS	250	EA.	8.60	2 150.00
22.8	3/4" FITTINGS	500	EA.	5,10	2 550,00

22.2	8" X 3/4" SERVICE SADDLE	81	EA.	23.40	1.895.40
22.3	6" X 3/4" SERVICE SADDLE	81	EA.	1820	1, 474,20
22.4	4" X 3/4" SERVICE SADDLE	81	EA.	16.70	1.352.70
22.5	3" X 3/4" SERVICE SADDLE	5	EA.	14.70	73.50
22.6	2" X 3/4" SERVICE SADDLE	1	EA.	12.40	12.40
22.7	3/4" CORPORATION STOPS	250	EA.	8.60	2 150.00
22.8	3/4" FITTINGS	500	EA.	5,10	2,550,00
TOTA	L BID				611, 232.35
	he CONTRACT may be awarded based on to stood that the OWNER may adjust the quanti				
RESPEC	TFULLY SUBMITTED THIS 14 DAY O	FEBRUA	24	2003	
	TFULLY SUBMITTED THIS 14 DAY O		7		
	ETFULLY SUBMITTED THIS 14 DAY OF		7		
IS BIDDE	ER AN INDIVIDUAL, A PARTNERSHIP, OR	A CORPORATIO	7		bussed
IS BIDDE	CONSOLIDATED PIPE SUPP PIRM NAME 2821 SABLE MILLANE	A CORPORATIO	7	dd J. al signat	best of
IS BIDDE	Consolidated PIPE Supp FIRM NAME 2821 SABLE MILLANE	A CORPORATIO	7		best fure
IS BIDDE	CONSOLIDATED PIPE SUPP PIRM NAME 2821 SABLE MILLANE	S =	JOE Sq	dd J. al signat	
IS BIDDE	Consolidated PIPE Supp FIRM NAME 2821 SABLE MILLANE ADDRESS 800-489-0511 812-280-0100	S =	JOE Sq	Les TITL	
IS BIDDE	CONSOLIDATED PIPE SUPP FIRM NAME 2821 SABLE MILLANE ADDRESS 800-489-0511 812-280-0100 PHONE NUMBER	S =	JOE Sq	Les TITL	

FORM OF BID BOND

KNOW ALL MEN BY THESE PRESENTS, that we, the undersigned, CONSOLIDATED PIPE & SUPPLY
COMPANY, INC. As Principal; and TRAVELERS CASUALTY & SURETY COMPANY OF AMERICA
as Surety, are hereby held and firmly bound unto Ohio Co. Water District
hereinafter called the Owners in the sum of 5 & amount of bid Dollars (S 57) for the
payment of which sum, well and truly to be made, we hereby jointly and severally bind ourselves, our heirs, executors,
administrators, successors, and assigns.

The condition of the above obligation is such that whereas the Principal has submitted to the Owners a certain Bid, attached hereto and hereby made a part hereof, to enter into a contract in writing, for the

Series III - Water System Improvement Addendum 1 & 2

NOW, THEREFORE,

- (a) If said Bid shall be rejected, or, in the alternate,
- (b) If said Bid shall be accepted and the Principal shall execute and deliver a contract in the Form of Agreement attached hereto and shall execute and deliver Performance and Payment Bonds in the Forms attached hereto (all properly completed in accordance with said Bid), and shall in all other respects perform the agreement created by the acceptance of said Bid,

Then, this obligation shall be void, otherwise the same shall remain in force and effect; it being expressly understood and agreed that the liability of the Surety for any and all default of the Principal hereunder shall be the amount of this obligation as herein stated.

The Surety, for value received, hereby stipulates and agrees that the obligations of said Surety and its bond shall be in no way impaired or affected by any extension of the time within which the Owners may accept such Bid; and said Surety does hereby waive notice of any such extension.

IN WITNESS WHEREOF, the above-bounden parties have executed this instrument under their several seals

orate seal of each corporate party being hereto	o affixed and these
	100 x x x
(Individual princips	(SEAL)
Current Assembly to the Control	
(Business address)	
VI. 41.18.14 (1)	(SEAL)
(Individual principa	al)
(Business address)	
Barry Howton Secretary & Treasure	(Affix Corporate Scal)
TRAVELERS CASUALTY & SURETY C (Corporate surety) P. O. Box 360950, Birmingham, A (Business address)	
	(Individual principe (Business address) (Individual principe (Business address) CONSOLIDATED PIPE & SUP (Corporate principe P. O. Box 2472, Birmingham, AI (Business address) By Barry Howton Secretary & Treasure (Corporate surety) P. O. Box 360950, Birmingham, A (Business address)

TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA TRAVELERS CASUALTY AND SURETY COMPANY FARMINGTON CASUALTY COMPANY Hartford, Connecticut 06183-9062

POWER OF ATTORNEY AND CERTIFICATE OF AUTHORITY OF ATTORNEY(S)-IN-FACT

KNOW ALL PERSONS BY THESE PRESENTS, THAT TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA, TRAVELERS CASUALTY AND SURETY COMPANY and FARMINGTON CASUALTY COMPANY.

corporations duly organized under the laws of the State of Connecticut, and having their principal offices in the City of Hartford, County of Hartford, State of Connecticut, (hereinafter the "Companies") hath made, constituted and appointed, and do by these presents make, constitute and appoint: David W. Hobbs, Kathy R Blake, Christine Louise Girodo, of Birmingham, Alabama, their true and lawful Attorney(s)-in-Fact, with full power and authority hereby conferred to sign, execute and acknowledge, at any place within the United States, the following instrument(s): by his/her sole signature and act, any and all bonds, recognizances, contracts of indemnity, and other writings obligatory in the nature of a bond, recognizance, or conditional undertaking and any and all consents incident thereto and to bind the Companies, thereby as fully and to the same extent as if the same were signed by the duly authorized officers of the Companies, and all the acts of said Attorney(s)-in-Fact, pursuant to the authority herein given, are hereby ratified and confirmed.

This appointment is made under and by authority of the following Standing Resolutions of said Companies, which Resolutions are now in full force and effect:

VOTED: That the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President, any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary may appoint Attorneys-in-Fact and Agents to act for and on behalf of the company and may give such appointee such authority as his or her certificate of authority may prescribe to sign with the Company's name and seal with the Company's seal bonds, recognizances, contracts of indemnity, and other writings obligatory in the nature of a bond, recognizance, or conditional undertaking, and any of said officers or the Board of Directors at any time may remove any such appointee and revoke the power given him or her,

VOTED: That the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President may delegate all or any part of the foregoing authority to one or more officers or employees of this Company, provided that each such delegation is in writing and a copy thereof is filed in the office of the Secretary.

VOTED: That any bond, recognizance, contract of indemnity, or writing obligatory in the nature of a bond, recognizance, or conditional undertaking shall be valid and binding upon the Company when (a) signed by the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary and duly attested and sealed with the Company's seal by a Secretary or Assistant Secretary, or (b) duly executed (under seal, if required) by one or more Attorneys-in-Fact and Agents pursuant to the power prescribed in his or her certificate or their certificates of authority or by one or more Company officers pursuant to a written delegation of authority.

This Power of Attorney and Certificate of Authority is signed and sealed by facsimile (mechanical or printed) under and by authority of the following Standing Resolution voted by the Boards of Directors of TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA, TRAVELERS CASUALTY AND SURETY COMPANY and FARMINGTON CASUALTY COMPANY, which Resolution is now in full force and effect:

VOTED: That the signature of each of the following officers: President, any Executive Vice President, any Senior Vice President, any Vice President, any Assistant Vice President, any Secretary, and the seal of the Company may be affixed by facsimile to any power of attorney or to any certificate relating thereto appointing Resident Vice Presidents, Resident Assistant Secretaries or Attorneys-in-Fact for purposes only of executing and attesting bonds and undertakings and other writings obligatory in the nature thereof, and any such power of attorney or certificate bearing such facsimile signature or facsimile seal shall be valid and binding upon the Company and any such power so executed and certified by such facsimile signature and facsimile seal shall be valid and binding upon the Company in the future with respect to any bond or undertaking to which it is attached.

IN WITNESS WHEREOF, TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA, TRAVELERS CASUALTY AND SURETY COMPANY and FARMINGTON CASUALTY COMPANY have caused this instrument to be signed by their Senior Vice President and their corporate seals to be hereto affixed this 23rd day of August 2002.

STATE OF CONNECTICUT

SS. Hartford

TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA TRAVELERS CASUALTY AND SURETY COMPANY FARMINGTON CASUALTY COMPANY

COUNTY OF HARTFORD







George W. Thompson

Senior Vice President

On this 23rd day of August, 2002 before me personally came GEORGE W. THOMPSON to me known, who, being by me duly sworn, did depose and say: that he/she is Senior Vice President of TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA, TRAVELERS CASUALTY AND SURETY COMPANY and FARMINGTON CASUALTY COMPANY, the corporations described in and which executed the above instrument; that he/she knows the seals of said corporations; that the seals affixed to the said instrument are such corporate seals; and that he/she executed the said instrument on behalf of the corporations by authority of his/her office under the Standing Resolutions thereof.



My commission expires June 30, 2006 Notary Public Marie C. Tetreault

CERTIFICATE

I, the undersigned, Assistant Secretary of TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA, TRAVELERS CASUALTY AND SURETY COMPANY and FARMINGTON CASUALTY COMPANY, stock corporations of the State of Connecticut, DO HEREBY CERTIFY that the foregoing and attached Power of Attorney and Certificate of Authority remains in full force and has not been revoked; and furthermore, that the Standing Resolutions of the Boards of Directors, as set forth in the Certificate of Authority, are now in force.

Signed and Sealed at the Home Office of the Company, in the City of Hartford, State of Connecticut. Dated this day of February . 20 03







Kori M. Johanson Assistant Secretary, Bond